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FIgag NA 33,068 28,699 4,369
< 13,240
s 19,828
101 @14 Hl 33,068 28,699 4,369
< 13,240
s 19,828
04 JIZHHZ2XRHEE S 33,068 28,699 4,369
OF &g A 1Al 33,068, 000& 33,068
< 13,240
= 19,828
HEees) Nz 10,000 10,000 0
< 5,000
e 5,000
201 LBt 10,000 10,000 0
< 5,000
i 5,000
03 & Ar2 I 10,000 10,000 0
OZJLE=2dA UHELes (AL, &
2Hl ) 10,000, 000& 13| 10,000
< 5,000
e 5,000
SEHMIR AL 50,540 0 50,540
401 A& HIZ 201 I 50,540 0 50,540
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OBEHATAAY HAZ S &3
50,000,000 =104 2 50,000
03 Al S THHI 540 0 540
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50,000,000& *1.08/100 540
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s 437,576
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—s3HX EH 22 R
51,7603 «3H x4 «4 2 <40 EH X 9,938




2N

%

S[pmE=pny

o MI|UAE HE(IELT AL /LHLE)
©€el: s3HX =4 ¥ 2 (sSAFEEMLELSA) (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o4tz 40,800, 000& x0.0975 3,978
201 et 17,520 13,190 4,330
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< 60,000
s 342,880
01 A& HI 400,000 200,000 200,000
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< 60,000
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100,000, 000& 100,000
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—=s3&X Jt2= &4l 10,000,000& =44 2~ 40,000
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s3HI2E N 22,460 19,440 3,020
201 et 16,060 14,440 1,620
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Ogt=&H| 13,260
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Hees(HLSH)(ZELXSEHL /A HI) 20,000 20,000 0




AN ZHMLSH
Hi: HRES(ZHNULEN) (2 EL XML /LS )
o BEXNE(s3XNR2ELHAILSESIAH) (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
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0l bl Bl 7,542,032 7,375,555 166,477
801 Gl HIHI 7,542,032 7,375,555 166,477
01 Brol bl 7,542,032 7,375,555 166,477
Ouuldl sl 7,542,032,000& 7,542,032
GlulH(ZAJIg=s4I13 SE3H)(0dlbl/odlbl) 1,585,000 1,530, 150 54,850
HHIBH(ESAJIESHIISELESAH) 1,585,000 1,530, 150 54,850
0l bl Bl 1,585,000 1,530, 150 54,850
801 GilHI8I 1,585,000 1,530, 150 54,850
01 Etoilgl Bl 1,585,000 1,530, 150 54,850
Ouuldl sl 1,585,000, 000& 1,585,000
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)
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